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Problem 2

(24 points) Groups of FORTRAN (77 and 90 both) syntax follow. Some groups have just one line, some have more than 1 line. For each group, describe what each line does and whether it is executable or non-executable. Treat each group as independent from any other group. 

Note: some things here might not be covered in lecture. Part of this exercise is to encourage you to consult any of many FORTRAN reference materials (library, bookstore, www, etc.)

i.(1.5)

 
DIMENSION x(20)

ii.(1.5)

 
REAL X(0:20)

iii.(3) (valid in f77 & f90 but not f95)
 
Character*14 chrs


write(chrs,’(14hATM 150 is fun)’)

iv.(3)

 
REAL PI

PI = ASIN(-1.)

v.(1.5)

 
IF(X.GE.2.) Y = 0.

vi.(6)

 
PARAMETER (NX = 21)

     
DIMENSION X(NX)


WRITE(*,10) (X(I), I=1,NX)

     10
FORMAT(6E10.3)

vii.(3)

 
INTEGER COUNT 


X=FLOAT(COUNT)

viii.(4.5)

 
DO I=1,8,2

      
PRINT *,I

      
END DO

ix.(10.5)

 
real r, rsq, rsq2, rinv, rd2, rm2, rmag, 

rsq = r*r


rsq2 = r**2


rinv = 1./r


rd2 = r/2


rm2 = r-2


rmag = abs(r)

x.(3)


DIMENSION X(5)


PRINT *,(X(J),J=1,3)

xi.(4.5)


COMPLEX A


A = REAL(A)

xii.(6)


REAL X


IF(MOD(X,10.).EQ.0.) THEN


X=XMAX


END IF

Hand in: write the syntax on a separate sheet together with your answer for each group.

Due: 15 October 2003 at the start of lecture.  10% penalty for each weekday late.

